19.7 fb (8 TeV) + 35.9 fb™* (13 TeV)

Local p-value

T

1o
........................... 2 20

-
-
-~
-~
~~
-
-~ -
-~
---------
~ .

w
Q

-4 o -
10 = e ~O S W =
SERRRRLCIR S ISIPL oo ke e e e e e 3 40
-5 [ _
10 " & E
-6 “““ -
10 " = RN =
; ------------------------------- S r-::"':: --------------------------- E 5 O-
107 g T E
_8 _? ..~~s~ ~~s ?:
10 = H - yy =
-9 L R . _
10 7 g :; = 60
= Observed 8 TeV 3
10_10 = Observed 13 TeV s
1 = Observed 8 TeV + 13 TeV =
10 g ------ Expected 8 TeV RO
C - Expected 13 TeV T
10—12 =
S Expected 8 TeV + 13 TeV =
B I B R B S S B R B

1300 v o Ly
10 90

95 100 105 110

m, (GeV)



	Contents
	Page 1


